664

/578

L73

/LT Y

408

4,206

5/3

Lol LY

/5&

<736

5L

L4763

zay

L4738

/78

6,6/ 6

76

L7,/ 3L

SLL

L7,0/8

3436

30,588

4,800

4,670

<05/

785,456

NEX2

S0,545

3, 3L0

5,530

@

& »n

T X -

-

Abacus CII’CUIT K3

QO ECLNILPYT

na o

B B ZA5lEA

No. No.
1 §3 x & = 16 526
2 2/ x 3 = 17 637
3 48 x4 = 18 70/
[ 57 x 9 = 19 74E
5 79 x 2 = 20 S04
6 /3 x4 = 21 8,32/
7 RO x 7 = 22 4,987
8 35 x & = 23 /654
9 Y x4 = 2 3,876
10 g o x 7 = 25 5403
11 59 x 4 = 26 5,078
12 760 x 45 = 27 7,2/ 0
13 273 x 7 = 28 7432
1 /5L X 2 = 29 6,/07
15 475 x & = 30 2,765

Lo %
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/LT AN /57 L 77 48 /08 / /& /LT 7L
g VE/4S 53 76 20 /A LRS /34 /58 /59 /AL
S7 77 /LS 784 S Y7 7L §é / /7 /YD #$4
HEHT - x5y KS
Abacus Circui
Thd D
H4OEMECELRILPYT (o) ) ,
20 B FEETT (M3)  (T-1) oS h 5 ZAIFA =1 N
A
No. 1 2 3 Il 5 [y 7 8 9 10
1 48 745 55 59 787 20 2L 52 79 37
2 -0 7 20 50 -/0 -53 S0 -30 -0 25
3 79 -40 -/& -37 3& S/ -/ 4 24 48 -40
2t
No. 11 12 13 14 15 16 17 18 19 20
1 L& 759) /Y %20 50 50 55 53 28 74
2 23 /0 45 -5& 453 -/ S0 57 50 Z0
3 -/ 5 & -70 74 L7 ) -4 42 -4/ 37
] 720 -47 59 ) /& 25 8§y £0 7L -5/
at
No. 21 22 23 20 25 26 27 28 29 30
1 S4 £7 L5 35 £9 LY 7804 7 ) &0
2 -5/ -/9 5/ L7 -34 2724 5/ 53 48 75
3 78 /5 -30 Y 5& -35 -70 75 -0 -5/
I 40 -4 2L -50 70 57 5& -0 -/3 /7
5 -&7 zZ0 -4 -4/ -/ 4 -0 -30 -5 79 -97
&t

K3-1




QO ECLNILPYT

Hh F N I x x Thd >
Abacus CII’CUIT KS

|
|
| =
i B h & 25k &
VRS i No. No.
2/6| 262/ 1 sS4 x4 = 16 403 x 7 =
/88| 2248 | 2 94 x 2 = 17 28/ x & =
w/| s082| | 3 49 x 9 = 18 §47 x & =
62| 76| ] ! 27 x4 = v 92 x 9 =
vr8| 128 ' 5 £3 x 5 = 20 609 x 2 =
00| 72,26/ | 6 50 x & = 1| s029 x 9 =
63| 27228 : 7 6/ x5 = 2| 6507 x 4 =
4| &s/2| 8 /6 x4 = 23| /352 x4 =
s04| 22,/ 67 | 9 72 x 7 = w| 2465 x 9 =
sua| svsu| | 19 56 x 9 = 5| 204/ x 4 =
6.335| 73.040| | 1| 9085 x 7 = %| 9./50 x & =
cous| 39.590| 2| 472 x 9 = w| 79/8 x & =
4698\ 20,572 : B3| 783 x & = 8| $794 x 7 =
vae| 48| w| /04 x 4 = 9| 874 x 2 =
2.050| /4,055 | 5| 450 x 9 = | 44885 x5 =
|
|
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7Y 743 5 /05 / /3 /34 7Y 74 25 / /L
g 724 20 ?9 55 /4 Va4 / /L /59 &3 5/
724 /08 &S5 //é Q$5 /& / /& /35 JYE /30
HIE M T — x5y KS
Abacus Circui
Thd D
4OEMECELRILPYT (o) ) ,
20 S FEETT (M3)  (T-1) oS h 5 ZAIFA = N
A
No. 1 2 3 Il 5 0 7 8 9 10
1 Z20 45 7Y 57 54 48 54 7Y 50 S5
2 -/7 ) S0 48 -/0 - LY -/ 2 -/& -4 20
3 5/ /0 -94 -0 &7 20 S0 zZ0 4 -/3
2t
No. 11 12 13 14 15 16 17 18 19 20
1 50 34 78 53 5& /7 Y$Y9 70 S& L0
2 /& L0 /5 /0 -2/ £5 L0 52 7 /5
3 -7 -4/ S0 -7 £0 -3 54 -4/ /0 75
] 743 75 A 8§49 Y$Y9 20 -/3 & -42 -4y
at
No. 21 22 23 21 25 26 27 28 29 30
1 L 7Y 7L 9749 35 43 23 73 &7 §4
2 40 52 53 -/4 79 -30 -40 -/0 20 -5/
3 -923 -7 -50 50 -&0 /& 5L 54 -S4 7
I -0 -30 /& YA 57 52 -37 -3 -3 L0
5 37 /4 -3& -4/ A -55 Z20 £7 783 )
=t

K3-2




QO ECLNILPYT

Hh F N I x x Thd >
Abacus CII’CUIT KS

|
|
| =
i B h & 25k &
VRS i No. No.
75| 4770| 1 25 x 3 = 16 970 x 7 =
204 /275 | 2 34 x & = 17 425 x 3 =
30| s623| | 3 70 x 9 = 18 647 x 9 =
83| sbas| | ! 69 x 7 = 9| 205 x & =
se2|  ve0 ' 5 £/ x 2 = 20 /92 x & =
60| /9,260 | 6 92 x & = 1| 6420 x 3 =
veu| 12088 : 7 56 x & = 2| 5./97 x 4 =
/68| /2576 8 47 x4 = 23| 2086 x & =
70| 2492 | 9 Jy ox & = w| S064 x 3 =
s24| su568| | 19 56 x 9 = 5| S.442 x 4 =
408| 26.595| | 1| 204 x 2 = 6| 53/9 x & =
65| s3525] | 2| 557 x & = 2| /975 x 7 =
su0| 37,672 : B3| /585 x 4 = 8| 4208 x 9 =
2.2/4| 78.024| w244 x 9 = 9| 9755 x & =
2,695 /5062 | 5| 579 x5 = B 7.83/ x 2 =
|
|
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§é L5 / /L 58 /5 / 5/ / /3 74 /L0 72
g 5& /S /& 70 YA/, /YD JYE 7y /20 7Y /5/
/ /0 /L0 74 //é / /73 /08 20 /L0 /3
HEHT - x5y KS
Abacus Circui
Thd D
4OEMEELRILPYT (o7 ) ,
20 B FEETT (M3)  (T-1) oS h 5 ZAIFA =1 N
A
No. 1 2 3 Il 5 [y 7 8 9 10
1 55 9749 59 70 748 75 7804 7/ S4 57
2 -0 70 40 -4/ 40 -/ Y -0 -/ 5 -/0 70
3 453 -4 253 9749 -923 20 54 zZ0 74 -45
2t
No. 11 12 13 14 15 16 17 18 19 20
1 LY 723 &0 /4 74, 8§49 &Y 59 34 7L
2 55 -50 79 59 b2 £0 -5& 35 57 -45
3 K4 L7 /3 -3L -5/ ) /7 74 -20 Y
1] -70 §$s -&2 70 28 -/3 L0 -/0 /4 S0
at
No. 21 22 23 20 25 26 27 28 29 30
1 3& L0 48 48 /3 ?L Z0 &L 50 /7
2 20 -/3 50 2724 LY -45 7/ 25 48 S/
3 -7 ?/ 798 -0 57 &0 —4& -7/ -/3 &0
I 55 -4 4 -57 %) -354 ) 40 L4 L0 -4Y4
5 -7 48 -9/ -/3 40 28 -/ 5 40 -35 -53
=t
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774

L4E

3,400

<76

5478

LI L

/604

765

L340

4E0

/85,070

560

L7,02L

5%

50,748

vy

/Y4704

S/ L

3/ L0

3,380

872/

3,072

/357 L

Y47

37,/ 6/

// 56

L5,687

534

3/,380

@

& »n

T X -

-

Abacus CII’CUIT K3

QO ECLNILPYT

Cna o

Or

(N

W ORN L % G G e

B B ZA5lEA
No. No.
1 g4/ x 2 = 16 S&7
2 35 x 7 = 17 680
3 74 x4 = 18 7/3
[ XY x & = 19 §0L
5 §& x 9 = 20 448
6 24 x 5 = 21 3,0/8
7 70 x & = 22 7,674
8 /& x 3 = 23 6,34/
9 43 x 7 = 20 745Q
10 52 x 4 = 25 7,805
11 45 x 4 = 26 <,707
12 S5/4 x 4 = 27 /8576
13 407 x 7 = 28 4,/ X7
1 LEZ x4 = 29 &,563
15 /75 x5 = 30 5,230
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§é ) /03 7804 //é /5/ /5 34 54 7/
g &3 /59 /64 /33 76 Yar) L4 /YL /LT /L5
/LS 79 5& 7804 §é /539 /L7 &Y b2 Va4
HEHT - x5y KS
Abacus Circui
Thd D
4OEMEELRILPYT (o%) ) ,
20 EULFEETT (M3) (T-1) oS h 5 ZAIFA = N
A
No. 1 2 3 Il 5 0 7 8 9 10
1 49 S0 £9 34 24 &4 54 53 L7 50
2 -0 55 70 &5/ -50 75 /7 50 20 -5
3 7804 -43 -34 -70 7L -30 -90 -7 -4/ N4
it
No. 11 12 13 14 15 16 17 18 19 20
1 28 20 ?/ 7/ /5 Y LY S0 759) 59
2 70 /5 50 -54 £0 5/ S0 745 -/0 72
3 A A &7 & 49 -3 &/ ?2& 59 -50
4 2/ 78 42 L0 ) £0 -&9 -4 34 /Y
at
No. 21 22 23 20 25 26 27 28 29 30
1 50 745 L0 /Y 7 38 /& 43 L7 50
2 7 54 54 Q47 -53 Y 7Y -/& Z20 -5/
3 -7 -7 -453 -34 L0 -7 -7 S0 55 A
I -4/ 20 50 &0 ) 50 764 55 A -/7
5 24 -S4 -75 -5& &Y -/4 -30 -924 -/& 73
=t

K3-1




QO ECLNILPYT

Hh F N I x x Thd >
Abacus CII’CUIT KS

|
|
| -
i B h & 25k &
IS i No. No.
248 1.270| 1 49 x & = 16 645 x 2 =
37| /070 | 2 923 x 9 = 17 /90 x 9 =
so4| s20a| | 3 26 x4 = 18 §67 x & =
/1| ross| ] ! 37 x5 = 9| S5 x 2 =
492 s.024 ' 5 §2 x & = 20 7656 x4 =
236| 5/.204| | 6 59 x4 = 21| §.854 x & =
45| s.60/ : 7 /5 x5 = 2| /647 x 5 =
va0| 49.392| 8 60 x 7 = 3| 70856 x 7 =
96| 4/.608 | 9 4s x 2 = Wl 520/ x & =
see| sas00] | 10 7/ x & = w| 4/90 x5 =
sws0| 37,75 | | /0 x 9 = 6| 7425 x & =
suse| 2r500| | 2| 496 x 3 = 2| 2089 x 9 =
so7al /17668 : B3| 43 x 4 = B| 2978 x & =
s52| 38.550| w276 x 2 = 9| 9.648 x 4 =
495| s2624| | 5| /65 x5 = | 40/2 x 2 =
|
|
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76 a4 /37 /L7 54 /)3 753 &/ /4 /0L
g /7 /78 /Y 55 / L 74 Yy 7/ /08 53
/L7 /03 Py 24 7/ 7/ Y 57 /0é 20
HEHT - x5y KS
Abacus Circui
Thd D
4OEMEELRILPYT (o7 ) ,
20 EULFEETT (M3)  (T-1) oS h 5 ZAIFA = N
A
No. 1 2 3 Il 5 0 7 8 9 10
1 7/ 79 £0 A 20 52 Z0 &9 50 zZ0
2 -/ 5 S5 57 50 -4/ -7 -3 /L -3& -/ Y
3 Z20 -&50 -/ 2 -/7 L7 20 54 40 L7 74
it
No. 11 12 13 14 15 16 17 18 19 20
1 /7 5/ 57 53 £0 50 L0 L5 52 59
2 SY 44 /L &/ 75 £9 7 S0 59 L&
3 50 50 &0 -&9 -7 —-4& -4& 59 43 -70
1] -5R 23 -4 5 S0 4§/ L5 78y 44 /0 34
at
No. 21 22 23 21 25 26 27 28 29 30
1 50 70 57 48 SY 25 Z0 75 50 /3
2 7R /4 -0 LY -/0 50 S7 -5/ 3& 79
3 -/4 -30 /3 79 54 5/ 5L 40 53 -4&
I -7 -52 48 -0 L3 -73 -40 Vx4 -/ 4 20
5 50 7Y A -57 -/ 2 -42 -/ 5 /7 49 - LY
&t

K3-5




QO ECLNILPYT

Hh F N I x x Thd >
Abacus CII’CUIT KS

|
|
| =
i B h & 25k &
X i No. No.
s2¢| /4| 1 sS4 x4 = 16 5/2 x 7 =
sa2|  /.520 | 2 6/ x 2 = 17 /90 x & =
266| #335] 3 56 x 7 = 18 §67 x & =
so| s605| | ! /6 x & = 9| 445 x 9 =
ru| rs24 ' 5 £3 x 9 = 20 976 x & =
392| 28.359] | 6 49 x & = 1| 9485/ x 3 =
250\ /736 : 7 50 x 5 = 2| 2754 x 4 =
seu| 3//60| 8 94 x & = 23| 5695 x & =
s/| 7505/ | 9 27 x 3 = w| s0/7 x 3 =
288| 30.640| | 19 72 x 4 = 5| ts/a28 x & =
sway| sous| | 1| vo4 x & = 6| /673 x 2 =
58| sesoe| 2| 459 x 2 = 2| s.402 x 3 =
2./33| s0.040 : B3| 257 x 9 = 8| 6540 x & =
2764 65./5/| | S48 x & = 9| 7239 x 9 =
1,564\ Su.342| | 5| 782 x 2 = | 4906 x o =
|
|
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79 &5 / /5 /LS &/ ) / /5 LY 49 LS
g /65 /&0 Va4 /52 L& /08 /65 / 5/ 743 /0é
/ 5/ /7 753 /30 /4 /S YL/ Py //é &0 Y/}
HEHT - x5y KS
Abacus Circui
Thd D
H4OEMECELRILPYT (o) ) ,
20 EULFEETT (M3)  (T-1) oS h 5 ZAIFA =1 -
A
No. 1 2 3 Il 5 [y 7 8 9 10
1 784 ?/ 70 &7 50 A 50 20 23 LY
2 20 L0 -/4 -S54 7L -40 -7 -7 50 79
3 -59 -4 4 &/ 20 -4/ L& 24 /L -S4 -50
2t
No. 11 12 13 14 15 16 17 18 19 20
1 53 20 28 8$20 4§/ ) 59 &0 /0 5§85
2 7Y -/7 70 -/3 L5 /S -4 4 -S4 5& /7
3 -40 V) -53 L7 50 £0 72 L7 1759) -34
I 928 7% L4 ?2& -&4 -4 50 74 -47 8$20
=t
No. 21 22 23 21 25 26 27 28 29 30
1 &/ S0 57 55 3& 43 4 S35 73 50
2 -53& &6 79 -7 Z20 24 -3& 53 783 -3&
3 50 7432 -&0 40 7Y -30 7L -50 -40 7
I -/ 4 -4Y4 -/3 /& -43 /4 /& 49 54 -/4
5 4 -75 S0 24 -&5 -7 -50 Y -S4 9749
&t
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QO ECLNILPYT

Hh F N I x x Thd >
Abacus CII’CUIT KS

|
|
| -
i B h & 25k &
RS i No. No.
712| $873] 1 £9 x & = 16 734 x & =
/2| 2535 | 2 78 x 4 = 17 S45 x 3 =
20| ws08| | 3 /4 x & = 18 5/2 x 9 =
Y ! 67 x 7 = 9| 407 x 2 =
g/0| w3/ ' 5 50 x 9 = 20 625 x 7 =
¢8| s5704| | 6 94 x 2 = 20| 4548 x5 =
558\ 4r.34¢ : 7 56 x & = 2| 7.69/ x & =
¢9| wrueo| 8 25 x 3 = 3| 6780 x 7 =
so| s.6/2 | 9 45 x 2 = Wl /204 x5 =
0| esrs| 10 /2 x5 = w258 x5 =
24| &/ /7| | | 78/ x & = 6| 9.0/5 x 9 =
2029\ /3528 ! 2| 47 x 7 = 7| o457 x4 =
548 17,037 : B3| 903 x & = 8| 5479 x 3 =
/,5288| w.692| | nl 256 x & = 9| 2946 x 2 =
s00| 7/.2/6| | 5| /25 x 4 = | s902 x & =
|
|
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/07 /7 / /3 /L7 /6 79 P2 JYE /)7 JYE
g 5/ YR /A / 5/ 72 /70 / /L /L7 54 /25 /0L
/L7 25 /S OY //é /) / 59 //é /05 /S S
HIE M T — x5y KS
Abacus Circui
Thd D
4OEMECELRILPYT (o) ) ,
20 B FEETT (M3) (T-1) oS h 5 ZAIFA = N
A
No. 1 2 3 Il 5 0 7 8 9 10
1 50 Q47 5L YA £0 20 48 57 55 20
2 57 S0 -59 -50 52 LY 70 20 -0 &9
3 -5 -5& 20 53 -94 -/ 5 A ) 54 -S4
it
No. 11 12 13 14 15 16 17 18 19 20
1 /Y 53 S& 57 Y$4 75 /A N4 70 50
2 34 8§49 Y £0 50 -39 -/3 8Z20 P2 /&
3 70 -53& 50 -9& -/3 L5 L0 -5/ -5 -7
] -49 L0 -4/ 8743 57 50 48 L& 5& 453
at
No. 21 22 23 20 25 26 27 28 29 30
1 784 7/ 35 45 50 LY ) &5/ 70 72
2 -34 50 798 -/9 -43 5& 50 50 -43 zZ0
3 79 -4 70 253 59 20 -3& -43 5& -53
I 50 53 -/& 57 -/ 2 -7Y -4y ), Z20 Vx4
5 -/ 2 -5 -7 40 7804 -39 59 79 -2 -59
&t
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